Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
_,__ www.EquipmentAnchorage.com
v

SHEET
v PREM’ER MOUNTS oes. J. ROBERSON 1
Joeno. T-1703
AM65 WALL MOUNT — q
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS WALL MOUNTED
(4)- &M (ER 2) M. SCREWS _ 16.53" | USE 4- /4" TEK SCREWS
W 00625" x |-I/4" OD. x 0.285" |D.
TO MONITOR x MAX FENDER WA;HERS (A5MEXB|&2|.|-ZOO°I)

UNDER SCREW HEAD AT STEEL STUD WALL
| (l6 GAGE, 50 ksi MIN.)

CE.WT.=T51B . T
(65 LB MONITOR MAX)
Vi

v

— 4l—>'ru
7

=
60 THE / STRUCTURAL ENGINEER OF RECORD
- SHALL DESIGN THE BACKING
WALL BOARD PLATE (16 GA, 50 KSI MIN)
AND THE WALL STRUCTURE

STEEL STUD WALL SECTION
(AM65 MOUNT)

NOTES:
1 FORCES ARE DETERMINED PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED. (@p = 25, Ip =15 Rp = 25, Q= 20,z/h < 1)

ANCHOR MAX Sps | Tumax | Tuwmax
/4" TEK SCREW 080 335 60
516" WOOD SCREW 100 396 73
5/16"s (GR 5) BOLTS 220 756 152
V4% HILTI HUS-EZ 070 600 121

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

3. STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




IE—@E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\_/ PREMIER MOUNTS oes J ROBERSON séﬂ

Joeno. T-1703

AM65 WALL MOUNT owe  8/8/19 8

OF

SHEETS

SEISMIC SUPPORTS & ATTACHMENTS MAX Sps < 0.860 WALL MOUNTED

405" UNIT BACKING
‘ o (12 GA ASTM A36, Fy=36 KSI)

- T ~ CG.WT. = T5 LB
|

EQ

(65 LB MONITOR MAX)
Z = 1653")

EQ

18"
I

EQ

USE 4- |/4"d TEK SCREWS

Tu = 335 LB/SCREW (MAX) W/ 0.065" x |-I/4" O0D. x 0.285" | D.

Vu = 60 LB/SCREW (MAX) FENDER WASHERS (ASME BI8.21.1-2004)
UNDER SCREW HEAD AT STEEL STUD WALL
(16 GAGE, 50 ksi MIN,)
(POSITION SCREWS TO
OUTSIDE END OF SLOTS AS SHOWN)

ELEVATION AT STEEL STUD WALL
(AM65 MOUNT)

LOADS: PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 080, @p = 25, b = 15,Rp = 25,zh < 1)

WEIGHT = 75 LB SCREW SPEC: 1/4% TEK SCREWS
HORIZONTAL FORCE (En) = 144 Wp = 108 LB oT = 412 LB/SCREW
VERTICAL FORCE (Ey) = 016 Wp = 12 LB 4V = 362 LB/SCREW
SCREW FORCES: UNITY CHECK:
TENSION (T
i )+ (6) <o
T 335 60
( ) . <_> 2099 <10 .7, OK

| _ _108#(1653)  _ 19| g/SCREW we A B

UPARALLEL ™ 5 < rews (4.08")

T resp, = 4108# = 27 LB/SCREW

T,y = 108# + (03)27#) + 210# = 335 LB/SCREW (MAX)

SHEAR (V)

2
_ J 12(75#) + 12# . < 1084 >: 60 LB/SCREW (MAX)
4 SCREWS 2 SCREWS




EASE

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

Tu = 396 LB/SCREW (MAX)
Vu = 73 LB/SCREW (MAX)

(16 GAGE, 50 ksl MIN,)
(POSITION SCREWS TO

ELEVATION AT WOOD STUD WALL
(AM65 MOUNT)

LOADS: PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10.

WEIGHT =75 LB
HORIZONTAL FORCE (En = 180 Wp = 135 LB
VERTICAL FORCE (Ev) = 020 Wp = 15 LB

SCREW FORCES:
TENSION (T)

12(75#) + 15#)(1653")
T - = 112 LB/SCREW
U VERTIGAL 2 sorews (7.8")

135#(16.53")
2screws (4.08")

135#

Tu PARALLEL = = 274 LB/ SCREW

= 34 LB/SCREW

Tuperp, = 2

T,y = T12# + (03)34#) + 274# = 396 LB/SCREW (MAX)

SHEAR (V)

ez

1354
2 SCREWS

12(75#) + 15# R
4 SoREWS

2
> = 73 LB/SCREW (MAX)

T~

USE 4- 5/16"¢ x 35" WOOD SCREWS

W 0.065" x I-1/4" OD. x 0.348" |D.
FENDER WASHERS (ASME BI&.211-2009)
UNDER SCREW HEAD AT WOOD STUD WALL

ROBERSON SHEET
\—""PREMIER MOUNTS oes . ROBERSO 3
Josno. T11-1708
AM65 WALL MOUNT - wam | g .
SEISMIC SUPPORTS & ATTACHMENTS MAX Sps < .00 WALL MOUNTED
3"
408" UNIT BACKING MIN —
- (12 GA ASTM A36, Fy=36 K9I)
el 4 K8 CG.WT. =15 1B USE 4- 5/16" x 35" WOOD SCREWS
T (65 LB MONITOR MAX) 5 TO WOOD STUD OR BLKG.
Z = 653" (PRE-DRILL HOLES
| TO 10% SHANK DIAMETER) x’
I 1 © ‘ © :
3
Q ' —
— |
3
\ | b I

4x BLKG
(DOUGLAS-FIR LARCH

NUMBER 2 MIN) 7

* (DESIGNED BY STRUCTURAL

ENGINEER OF RECORD)

5/8" THK.
WALL BOARD

OUTSIDE END OF SLOTS AS SHOWN)

WOOD STUD WALL SECTION
(AMB5 MOUNT)

STRENGTH DESIGN IS USED (Sps = 100, 8p = 25, Ip = 15, Ro = 25, zh < 1)

SCREW SPEC. 5/16"¢ WOOD SCREWS

ol = 724 LB/SCREW

¢V = 234 LB/SCREW

¢V = 216 LB/SCREW (DUE TO BENDING)

UNITY CHECK:

) + (o) <o

396
(724> ( )-089<10 OK




EASE

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

\"—"""/PREMIER MOUNTS ea . ROBERSON "Z
Josno. T11-1708
AM65 WALL MOUNT — o
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS MAX Sps € 220 WALL MOUNTED
408" UNIT BACKING
- (12 GA ASTM A36, Fy=36 KSI)
EQ " EQ
- — CE.WT. = T5 LB
T (65 LB MONITOR MAX)
| Z = 653"
T © ‘ )
[
JiH)
E - -
— I
[
JiH)
\ \ o)
Tu =756 LB/BOLT (MAX) Uws/Eo‘.‘c;:z/ls?"f |(-6|/F§1"5 g)?fgg.aw ID.
Vu = 162 LB/BOLT (MAX) FENDER WASHERS (ASME BI&.211-2004)
UNDER BOLT HEAD AT STEEL STUD WALL
(16 GAGE, 50 ksi MIN.)
(POSITION BOLTS TO
OUTSIDE END OF SLOTS AS SHOWN)
ELEVATION AT STEEL S5TUD WALL
(AM65 MOUNT)
LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, Ap = 25,Ip = 15, Rp = 25, zh < 1)
WEIGHT = 75 LB BOLT SPEC: 5/16" (GR 5) BOLTS
HORIZONTAL FORCE (En = 396 Wp = 297 LB T = 5177 LB/BOLT
VERTICAL FORCE (EV) = 044 Wp = 33 LB ¢V = 2698 LB/BOLT
BOLT FORCES: UNITY CHECK:
TENSION (T) T Vi
,, (o) (&4
2gouts (7.8")
756 152
| (22 (%) oz -
Tommuue = 2226580 _ 6o | g/BOLT
280t (408"
297#
T = =74 LB/BOLT
u PERP 4 BoLTS
T,y = 18T + (03)744) + 6024 = 756 LB/BOLT (MAX)
SHEAR (V)
2
Vy v = J 12075#) + 33# . < 297# > = 152 LB/BOLT (MAX)
4 BoLTS 2 BOLTS




IE—@E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

Joeno. T-1703

AM65 WALL MOUNT owe  8/8/19 8

OF

\_/ PREMIER MOUNTS oes J ROBERSON S%E'

SHEETS

SEISMIC SUPPORTS & ATTACHMENTS MAX Sps < 010 WALL MOUNTED
UNIT BACKING h,?—lﬂ

408" (12 6A ASTM A6, Fy=36 KS) g
EG_ T . T MAX =
! CE.WT. = 15 LB

© ‘ o (65 LB MONITOR MAX) e #TU
Vu

© e 4l—»TU
CONCRETE WALL
(3000 PS5l MIN) 0
- BY STRUCTURAL
USE 4- 1/4"® HILTI HUS-EZ ENGINEER OF RECORD
SCREW ANCHORS
Tu = 581 LB/SCREW (MAX) W 0.0625" x |-I/4" O.D. x 0.285" | D.
Vu = 121 LB/SCREW (MAX) FENDER WASHERS (ASME BI.21.1-2009)
(VALUES INCLUDE Q) UNDER SCREW HEAD AT CONGRETE WALL

(MIN. EMBED. (ha) = 192")

TO CONCRETE WALL

(POSITION SCREWS TO

OUTSIDE END OF 5LOTS AS SHOWN)

EQ

18"
I

EQ

ELEVATION AT CONCRETE WALL CONCRETE WALL SECTION
(AM65 MOUNT) (AM65 MOUNT)

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 070, @p = 25, = 15, Rp = 25, Q= 20,z/h < 1)
WEIGHT =75 LB
HORIZONTAL FORCE (En) = 126 Wp = 95 LB
HORIZONTAL FORCE (Emy = 315 Wp = 236 LB
VERTICAL FORCE (Ev = 0.4 Wp = 11 LB

SCREW FORCES BOLT SPECS: V4% HLTI HUS-EZ
TENSION () ﬂ %\7/5;]¢N % 65§/égéSE$vF{EV(VSHE(LETS|ON)
TovermoaL = (1'2(725&;;(17?;5'9”) = 103 LB/SCREW UNITY CHECK:
T, e = % - 460 LB/SCREW (%) ' (%) <
Toeap = —20*_ _ 59 | B/SCREW <%> <%> =il L oK

Ty = 103# + (03)(594) + 460#= 581 LB/SCREW (MAX)

SHEAR (V.

2
Vo= 12(75# * 11# 236# ) _ 1p1 LB/SCREW (MAX)
4 SCREWS 4 SCREWS




E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
_,__ www.EquipmentAnchorage.com
\"—"/ /PREMIER MOUNTS = Lromerson |2

Joeno. T-1703

AM95 WALL MOUNT e 8/8/19 8

OF

SHEETS

SEISMIC SUPPORTS & ATTACHMENTS WALL MOUNTED

USE &- 1/4"® TEK SCREWS
W 0.0625" x I-1/4" OD. x 0.285" | D.
FENDER WASHERS (ASME BI&.21.1-2009)

%‘M%mlﬁ)iz) M. SCRENS - r|46,ti|x - UNDER SCREW HEAD AT STEEL STUD WALL
j\_ﬂ (16 GAGE, 50 ksi MIN)
4l—>'|’u
CE.WT. = 114 LB Vi
(d5 LB MONITOR MAX)

Lo 4l—>'|’u
VU
5/8" THK / STRUCTURAL ENGINEER OF RECORD
WALL BO ARD SHALL DESIEN THE BACKING
PLATE (16 GA., 50 KSI MIN.)

AND THE WALL STRUCTURE

STEEL STUD WALL SECTION
(AMA5 MOUNT)

NOTES:
1 FORCES ARE DETERMINED PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sbs = 220, @p = 25, = 15, Rp = 25, Q= 20, zh < 1)

HORIZONTAL FORGCE (En) = 396 Wp
HORIZONTAL FORGE (Emn) = 7.92 Wp (FOR CONCRETE ANCHORAGE)
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN,

3. STRUCTURAL ENGINEER OF RECORD FOR THE BULDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EASE

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

A

USE &- 1/4"9 TEK SCREWS

Tu = 210 LB/SCREW (MAX) UNDER SCREW HEAD AT STEEL
Vu = 116 LB/SCREW (MAX) (16 GAGE, 50 ksi MIN,)
(POSITION SCREWS TO

ELEVATION AT STEEL STUD WALL
(AMd5 MOUNT)

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.

WEIGHT = 114 LB
HORIZONTAL FORCE (En = 396 Wp = 452 LB
VERTICAL FORCE (B = 044 Wp = 50 LB

SCREW FORCES:
TENSION ()

(12(114#) + 50#)16.1)
Ascrews (1327")

4524(16.1)
4screws (13.36")

4524

T, VERTOAL = = 57 LB/SCREW

T PARALLEL = = 136 LB/SCREW

= 57 LB/SCREW

Tuperp, =

Tumax = 57# + (03)(574#) + 136# = 210 LB/SCREW (MAX)

)

SHEAR (V)

e

12(1144) + 50#
8 SCREWS

4524
4 SCREWS

W 0.0625" x |-I/4" O.D. x 0.285" | D.
FENDER WASHERS (ASME BI&.21.1-2009)

OUTSIDE END OF SLOTS AS SHOWN)

2
> = 116 LB/SCREW (MAX)

ROBERSON SHeer
\—"" PREMIER MOUNTS el I
soBNno.  11-1703
AM95 WALL MOUNT o g
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS PALL MOWNTED
65" UNIT BACKING 5/8" THK.
 E Q (12 GA ASTM A36, Fy=36 KSI) WALL BOARD M|N
- o | s - 2 X STUDS OR 4 x BLKG
(DOUGLAS-FIR LARCH
| | I [cenn-l41B NIMBER 2 MIN)
| (DESIGNED BY STRUCTURAL
] 0— © o /— (45 Lllz lr:I)ONITOR MAX) ENGINEER OF RECORD)
o
51 _
o
o
= © ©® —©

-

USE &- 5/16" x 35" WOOD SCREWS

W 0.0625" x |-1/4" OD. x 0348" | D.
FENDER WASHERS (ASME BI8.21.1-20049)
TO WOOD STUD OR BLKG.
(PRE-DRILL HOLES

TO 10% SHANK DIAMETER)
(POSITION SCREWS TO

OUTSIDE END OF SLOTS AS SHOWN)

STUD WALL

WOOD STUD WALL SECTION
(AMA5 MOUNT)

STRENGTH DESIGN IS USED (Spbs = 220, 8p = 25, Ip = 15, Rp = 25,z < 1)

SCREW SPEC: 1/4"¢ TEK SCREWS
¢T = 418 LB/SCREW
¢V = 362 LB/SCREW

UNITY CHECK:
Tu M

(mT) ¥ (mv
20\ , (116
8 362

SCREW SPEC: 5/6" WOOD SCREWS

oT = 724 LB/SCREW

¢V = 234 LB/SCREW
¢V = 216 LB/SCREW (DUE TO BENDING)

UNITY CHECK:

(Tu

<¢T

) <10

. OK

) 083<10 .

210
657

K




IE__@E" EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\_/ PREMIER MOUNTS oes J ROBERSON séﬂ

sosno. 11-1703
AM95 WALL MOUNT e 8/8/19 8
OF SHEETS
SEISMIC SUPPORTS & ATTACHMENTS WALL MOUNTED
- 6.5 - ngeiAAcgmeA% Fy=36 K51) :
. B _ ' MIN
50" 50" - I5.47" —

MAX

1 © © © E—Al‘»TU

C6.WT. = 114 LB Wi

(45 LB MONITOR MAX)
|
|

© © © G Tu
+* CONCRETE WALL
USE 4- 1/4"® HILTI HUS-EZ (3000 PSI MIN) VU

EQ

13.27"
I

EQ

SCREW ANCHORS BY STRUCTURAL
Tu = 351 LB/SCREW (MAX) W 0.0625" x |-I/4" OD. x 0.285" ID.  ENGINEER OF RECORD
Vu = 228 LB/SCREW (MAX) FENDER WASHERS (ASME BI®.21.1-2004)
(VALUES INCLUDE Q) UNDER SCREWN HEAD AT CONCRETE WALL

(MIN. EMBED. (ha) = 1.92")

TO CONCRETE WALL

(POSITION SCREWS TO

OUTSIDE END OF 5LOTS AS SHOWN)

ELEVATION AT CONCRETE WALL CONCRETE _WALL SECTION
(AMd5 MOUNT) (AMd5 MOUNT)
LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sbs = 220, @p = 25, Ip = 15, Ro = 25, zh < )
WEIGHT = 114 LB
HORIZONTAL FORCE (En = 396 Wp = 452 LB

HORIZONTAL FORCE (Em) = 792 Wp = 904 LB BOLT SPECS: #/4" HILTI HUS-EZ
VERTICAL FORCE (Ev) = 044 Wp = 50 LB T= 075¢Nn = 623 LB/SCREW  (TENSION)
SCREW FORCES: V= ¢Vn = 836 LB/SCREW (SHEAR)
TENSION (T) " UNITY CHECK:
Termoy = 2014#) + 50#)(1,5.47) - 55 LB/SCREW )L (W)
AscREWS (13.27 ’) oT oV :
904#(1547")
T = 2R - ogp | B/SCREW 351 228
UPARALEL ™ 138 ( =3 ) + ( o ) 084 <12 ., OK
904#

e, =~ —= 118 LB/SCREW

Tomax = 55# + (09)(113#) + 2624#= 351 LB/SCREW (MAX)
SHEAR (V)

2
Vorec= 12 144) + 50# D4# 1 _ 508 | B/SCREW (MAX)
8 SCREWS 4 SCREWS




